Geometry (A) Name : __ Kel
Unit 7 Test Review Date:_ 2 Period:

1. Identify the number of common tangents for the following pairs of circles.

a. b. c.
. :
)
<
one fur fwo

2. If the measure of 2XYZ =70°in © C, find the measure of 2XCZ.
P
™~ cenmal angle

-~
(save 08 (13 arc xz)

[ meX(2 =140° ]

3. Find the measure of 2.
mel: 5(33 H21)
mels b (1Y)
33° 131° )
mel= 81

med 83 =180 « Lincar pary
i me o =C\9°‘

4. Please find the value of x.

45 L (300-%-X)
LA

45° 3 (360-aX)

45- € 150-X

-1%6=-X

30X




5. Please find the value of x.
out-whoie = out whole
AN
3(3ex) = 4(n)
9434 = 44
3%x=%9

IX:lLb] ]

6. Do the following points fall on the circle with equation (x — 2)? + (y — 6)* = 257

a. (2,6) b. (5,10) c. 42 d. (6,9
(a-2)% (6b)* a5 (6-3)% (0-6) 2 a5 -a)+(4)*235  (6-a)(a4)* 235
00+ (0)” - 36 (B (4)72 25 (2 (4)* < 25 ()*+0)* 2 as

0¢a$ 9tl6 225 Welo 235 lotq 23¢
E\T,_ 35:ab a0+ a5 352as

7. Find the perimeter of the circumscribed triangle.

P-T+1rbtb5+6

1

8. Given that Q and R are both points of tangency, please solve for x.

.'/‘
o <
*=3 0¥ X’—-?»] o7

R

oecause 3(2)*- 3(9) 0



9. Given that 4B is tangent to OC , please find the radius CB.

V2 96 A X +96 100

X"+ 4246 T 10000
x> 164
XY

10. Suppose a space shuttle is orbiting about 180 miles above Earth. What is the distance
d from the shuttle to the horizon? The radius of Earth is about 4000 miles. Round your
answer to the nearest tenth.

d?+14000 "= 41g0*
d* + 16000000 = 17472400

d*< |w12400
|d=1213.4 m

11. Match the notation with the term that best describes it.

Ponto Tongmcga. D /A/ Center
Comenon tnt: TH . Chord
Mtye. 7
—_ . Diameter
Radiu¢ ¢ CD /O/
Unord d. 4B /B/ Radius
wnier e, ¢ . Point of tangency
Dumerey £ 4D / Common external tangent
Seant g. 4B /('/Common internal tangent
(ommon txr; h. ﬁ }{ Secant

T(mgtm



12. Find the indicated measures in © M.

a. ZPNQ = L) =@ c. 2QP0 <5916
|=us°f
b. PNQ d. LPON|@

= o3 HIa+Ig (wsbed 1o asernicrae )

o)

a.mPs = _|us" b.mPSR = MS+36HYS = 335°

c.mPRQ = _\¥ 0 d.mPRS = 35t14$4239 = 215°
P

semiarag

14. Find the measure of each angle inside the inscribed polygon.

3yrhy <80 gx+ux=180

mek= 3(30)+90°
M) =g15) <120°
mem= 3(20) <40°
meLs 4lis) < 60°
15. Please find the m<PQR.

P
2(3%435 ) =5 2100

[51('1-60)0 \OX*SD: 6X*60 g
=30+4d
£ 5000 MePOR=30+

i @ |mtvmz: 59“]

MPQR=3(10)+35

(3x+ 25)°



16. In the diagram below, BE = 7, BO = 14, AD = 6, and €D = 12. Find the values of x and

(M)4) =(y)1)
501y

btXt\4
= X+a0

(13)(13): ((x+a0)
MY 2 6 %2 +130
34X

%]

y
17. Prove or disprove whether or not the point (}1<, 8) lies on the circle
(x+2)2%+ (y+4)? =25

(143)" (g+4)* 2 56
(3)*+(2)* 2 3¢
Q+14Y4 = as

153 #3¢ (18) 18 N0 on the aircie

18. Jamie is designing a park and wants to include a carousel. On a blueprint, suppose that
the center of the carousel is at the origin and that one of the railings on the

circumference of the carousel has coordinates (3, 4).
a. If one unit on the coordinate plane is equivalent to 1 foot, find the diameter

of the carousel.

cenfer ar (0'0) > radius = \l(?'O)l-l'(q’O)L - ih)l-}(‘{)l - \lmz & t 5

point at (34)
diametey = 2x5 =\_l0 H]

b. Write an equation to represent the circular path the carousel follows as it

spins.

Center 2 (0,0) 5 OOYa(yo)ag?

radids = 6 m



19. Graph the circles given the following equations.

a(x+2P+(y-22=16 (enitr=(-3,3) b.(x-5+(y+1)*=4  cenitr=(5-1)
rudws = 1o =Y radwis< {4 = &
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